Thinking of how you feel right now, if a FEDERAL election were held tomorrow, which of the following partie
support? / Well, which party would you say you would lean towards?

Base: All Respondents (unwtd) 1000 293 323 132 34
Base: All Respondents (wtd) 1000 295 309 101 48

295 295 - - -

The Conservative Party 30% 100% - - -
BCHI * *E

309 - 309 - -

The Liberal Party 31% - 100% - -
ACHI * *x

101 - - 101 -

The New Democratic Party (NDP) 10% - - 100% -
ABHI* *x
48 - - - 48

The Bloc Quebecois (BQ) 5% - - - 100%

* k%

36 - - - -

The Green Party 4% - - - -
* * %

23 - - - -

The People's Party of Canada 2% - - - -
* k%

6 - - - -

Or some other party 1% - - - -
* * %

66 - - - -

Would not vote/None/Would spoil ballot 7% - - - -
* k%

116 - - - -

Don't Know/Not sure 12% - - - -
* %%
1000 295 309 101 48

Sigma 100% 100% 100% 100% 100%







:s' candidates would you, yourself, be most likely to

The Green The Would not

Party People's |other party|vote/None/| Know/Not
Would spoil

ballot

Party of
Canada

34 27 49 105
36 23 6 66 116
%k k. %k k. 3k %k * *
k% k% %k * *

%k k. %k k. 3k %k * *
%k k% k% * *
36 - - - -
100% - - - -
k% k% k% * *
- 23 - - -
- 100% - - -
k% k% k% * *
- - 6 - -
- - 100% - -
k% k% k% * *
- - - 66 -
- - - 100% -
- - - - 116
- - - - 100%
36 23 6 66 116
100% 100% 100% 100% 100%







Thinking of how you feel right now, if a FEDERAL election were held tomorrow, which of the following partie
support? / Well, which party would you say you would lean towards?

Base: All Answering (unwtd) 846 293 323 132 34
Base: All Answering (wtd) 818 295 309 101 48

295 295 - - -

The Conservative Party 36% 100% - - -
BC * k%

309 - 309 - -

The Liberal Party 38% - 100% - -
AC * k%

101 - - 101 -

The New Democratic Party (NDP) 12% - - 100% -
AB* 3k %k
48 - - - 48

The Bloc Quebecois (BQ) 6% - - - 100%

* k%

36 - - - -

The Green Party 4% - - - -
* k%

23 - - - -

The People's Party of Canada 3% - - - -
* k%

6 - - - -

Or some other party 1% - - - -
* k%
818 295 309 101 48

Sigma 100% 100% 100% 100% 100%







:s' candidates would you, yourself, be most likely to

The Green The Would not
Party People's |other party|vote/None/| Know/Not
Party of Would spoil
Canada ballot
34 27 3 - -
36 23 6 - -
%k k. %k k. 3k %k
*k * % * %
%k k. %k k. 3k %k
*k * % * %
36 - - - -
100% - - - -
k% k% k%
- 23 - - -
- 100% - - -
*k * % * %
- - 6 - -
- - 100% - -
k% k% k%
36 23 6 - -
100% 100% 100% - -







To what extent do you agree or disagree with the following: We need a federal election immediately so we |
mandate from Canadians to deal with the tariff threat from President Trump.

Total The The Liberal | The New
Conservativ Party Democratic| Quebecois
e Party Party (NDP)

Base: All Respondents (unwtd) 1000 293 323 132 34
Base: All Respondents (wtd) 1000 295 309 101 48
476 197 116 40 24
Strongly agree 48% 67% 38% 39% 49%
BCHI * *E
376 84 110 43 21
Somewhat agree 38% 29% 36% 43% 43%
A* k%
111 11 63 13 4
Somewhat disagree 11% 4% 20% 13% 7%
37 3 19 5 -
Strongly disagree 1% 1% 6% 5% -
A A* k%
1000 295 309 101 48
Sigma 100% 100% 100% 100% 100%




have a Prime Minster and government with a strong

The Green The Would not
Party People's |other party|vote/None/| Know/Not
Party of Would spoil
Canada ballot
34 27 3 49 105
36 23 6 66 116
16 14 1 18 49
45% 63% 16% 27% 43%
%k k. %k k. 3k %k * *
14 7 2 38 57
38% 29% 29% 57% 49%
4 2 - 7 8
12% 9% - 11% 7%

%k k. %k k. 3k %k * *

2 - 3 3 2
5% - 55% 5% 1%
k% k% k% * *
36 23 6 66 116

100% 100% 100% 100% 100%




